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Question No’s 
key Explanations Set 

A 
Set 
B 

Set 
C 

Set 
D 

1. 103. 65. 29. B 

As Rahul has scored a total of 240 in 1st 3 quizzes. So he has to get minimum 90 
marks to get his average more than 80. 
In order to get minimum 90 marks, he has to get either 9 questions or 10 questions 
correct.  
For getting 9 questions correct, there are 10 cases. For getting all 10 correct, there is 
only 1 case. So total 11 cases. 

Hence probability = 
1024

11
  

2. 104. 66. 30. C 
Going by options, if Rohini was born in 1995, then she was 9 years old in 2004.  
So Arvind was 3 years old in 2004. After 10 years, Rohini was 19 years old and 
Arvind was 13 years old. Hence the difference of their ages was 6 

3. 105. 67. 31. A Going by option, 1st option satisfies the given criteria. Hence answer is option A. 

4. 106. 68. 32. C 

Log25 5 = a  a = 
2

1

5log2

5log

25log

5log
  

Log25 15 = b  b = 
5log2

5log3log

25log

15log 
  

 b = .
2

1
5log

3log


 Log25 27 = ?
5log2

3log3

25log

27log
  

Also   





 

2

1
1b3

2

3
b31b2

2

3
1b2

5log

3log
 = 3 (b – 1 + a) 

Hence answer is C option 

5. 107. 69. 33. C 

Two people are not sitting together means  
Total – (sitting together) 

 10! – (9! 2!) = 2903040.  
Hence answer is option C. 

6. 108. 70. 34. C 

 
 AT VF 

Pre 79 100
Post 88.48 85 

 reqd. percentage  more%7.4100
85

4
100

85

8589



 

Hence answer is C option. 

7. 109. 71. 35. B 

Let’s take original service charges = 100 Rs. 
So 2nd service costs = 90, 3rd service costs = 80.1. 4th service costs 70.488 and 5th 
service costs 55. So total cost = 395.588 

So net discount offered = %8.20100
500

104
  

Hence the answer is option B 

8. 110. 72. 36. D 

Let there be x inlet pipes. Hence there would be 11 – x outlet pipes. So as per the 
question, 

7

1

5

x11

7

x



   x = 6 

So answer is D option. 

9. 111. 73. 37. A 

Let total families be 100. Since 68 families neither own agricultural land nor mobile, 
so 32 families own at least one of the two things. Let x be the number of families 
owning both. 
So 22 + 18 – x = 32  x = 8 
So if both is 8, total is 100 
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C A

O 
8 

7 

B

If both is 1600, total is 200001600
8

100
 Hence the answer option A. 

10. 112. 74. 38. D 
Let n be the number of members who attended the board meeting.  
So as per the question nc2 = 78  n = 13. 
Hence the answer option is D 

11. 113. 75. 39. B 

Let’s say x pages give us the equal cost for both printers. 
So 5000 + 1.8x = 8000 + 1.5x  x = 10000. 
The cost of laser printer decreases when x exceeds 10000. So this is the minimum 
value so answer is B option. 

12. 114. 76. 40. C 

Length of arc = 10π. So 


10
360

90r2  

 r = 20 Area of sector = 
360

Q
r  

 π  400   100
360

90  

13. 115. 77. 41. B 

Morning speed = 100kmph. 
Evening speed = 150kmph 
Morning time = 1hr. evening time = 1.5hrs 
Distance in the morning = 100 1 = 100 km 
Distance in the evening = 150  1.5 = 225km 

Average speed for entire journey is = kmph130
5.2

325

5.11

225100





 

Average speed in morning = kmph100
1

100
  

 1st value is 30% greater. 

14. 116. 78. 42. D 

Let O be the centre of the circle and AB is height of cylinder construct the triangle  
OAC OCA is a right angled triangle and OA = 8, OC = 7,  
Let AC = radius of cylinder = r 
In OCA, OA2 = OC2 + AC2  
 82 = 72 + AC2 
 AC2 = 64 - 49 = 15 
 r2 = 15. 
The volume of cylinder = r2h  

= 
7

22  15  14 = 660 

 
 
 
 

15. 117. 79. 43. C 

The salary of seema = Rs. 300. 
The savings for 1st three months = 900. 
The saving for next month = 350, 400, 450, 500, ............ 11400 - 900 = 10500 

Hence 10500 = 
2

n [2  350 + (n-1)  500 

21000 = n [ 650 + 50n] 
 50n2 + 60 n - 21000 = 0 
 n2 + 13n - 420 = 0 
 n2 + 28n - 15n - 420 = 0 
 n(n+28) - 15 (n+280 = 0 
(n+28) (n-150 = 0 
n = 15, -28, Rejecting the negative value of n, we get n = 15. 
Hence the total months are 15 +3 = 18. 

16. 118. 80. 44. D 

Let the total sales are of Rs. X. 
The commission for Rs. 100000 = Rs. 6000 
The remaining amount = x - 100000 

The commission on this amount = 
100

5 (x- 100000)  = 0.05x - 5000 

Now he deposited Rs. 265000 after deducting his commission. 
 x - (0.5x - 5000) - 6000 = 265000 
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7.6m 

6.4m 

x

1.2m 

6.4m 

x – 1.2

y

 x - 0.05x + 5000 - 6000 = 265000 
 0.95 x = 266000 
 x = Rs. 280000 
Hence the total sales are worth Rs. 280000. 

17. 119. 81. 45. B 

P can do the job in 42 days. Q is 26% more efficient than P 
 1.26 Q = 42  Q = 33 days 
As R is 50% more efficient than Q  R will take 22 days. 
Hence Q can do the work in 33 days & R can do it in 22 days, when Q and R will do 

the work together, they will do 
66

5

66

32

22

1

33

1



 look in one day. So they will take 

5

66 = 13.2 days to complete the work. 

18. 120. 82. 46. A 

As P and Q are mixed in 1:4.5, let us take P = 100 kg & Q = 450kg. 
In 100kg P, the silver = 45kg & Aluminum = 55kg. 
In 450kg Q, the silver = 135kg and copper = 157.5kg. 
Hence the total silver in the new alloy = 135 + 45 = 180kg and copper = 157.5kg. 

%age of silver = 
550

180  100 = 32.72  33% 

%age of copper = 
550

5.157  100 = 28.63  29% 

 

19. 121. 83. 47. B 

 
 
 
 
 
 
 
 
 
 
Using Pythagoras theorem, 
We get x = 4.1m 
So x = 1.2 = 2.9m 

 (7.6)2 = (2.9)2 + (y + 6.4)2  y = 0.6m. 

20. 122. 84. 48. D 

The given equation is 759x49x4  . 

Just put x = 4 in the above equation, we get 75944944   

7575  which is true. 

21. 123. 85. 49. B 

p

1

2

p

2

p

2

1

4

1
p

p

1

p

p4

1
p

22

2244

22

224

















































 

p

1

2

p
12

p

2

1

2

1
p2 222222













      .8222 3p

1
p3p

1
pp2    

22. 124. 86. 50. A 

The probability of failing the first trimester in 0.08. So the probability of passing the 
first trimester = 0.92. The combined probability of passing second and third trimester 
is 0.87. Hence the probability that the student will complete the first year = 0.92  0.87 
= 0.8. 

23-
27. 

1 – 
5. 

87 – 
91. 

51 – 
55. 

 

Anthony Electrical Singapore
Dinesh Metallurgy UAE 
Frank IT Australia 
Brad Chemical India
Evan Mechanical England 
Carla Electronics Germany 
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23. 1. 87. 51. C As per the table, we get the information that Carla joined the Electronics Deptt. 
24. 2. 88. 52. C The person placed in UAE is in Metallurgy Department. 
25. 3. 89. 53. B Out of these, Brad-India – Chemical is the correct combination. 
26. 4. 90. 54. A Frank joined IT Deptt. In Australia. 
27. 5. 91. 55. D UAE – Metallurgy is true for Dinesh. 
28. 6. 92. 56. C  
29-
32. 

7 – 
10. 

93 – 
96. 

57 – 
60. 

 
Qualified: - Kranti > Kalpna > Kamlesh > Kriti > Kamla > Kripa 
Height: - Kripa > Kamla > kamlesh > kriti > Kalpna > Krianti 

29. 7. 93. 57. B Kamlesh is third tallest in decreasing order of height. 
30. 8. 94. 58. D Kranti is most qualified.  
31. 9. 95. 59. B Kriti is 3rd in increasing order of qualification.  
32. 10. 96. 60. B Kamla is 5th in increasing order of height. 

33. 11. 97. 61. B 
18, 37, 76, 155, 314, 633, 1272 
x2 + 1, x2 + 2, x2 + 3, x2 + 4, x2 + 5, x2 + 6 

34. 12. 98. 62. C 
Number of ways for selecting countries if no condition are imposed will be23 -1 = 7. 
As for each country these are 2 ways i.e. to select or not selecting it. So options C. 
 

35. 13. 99. 63. D 
We can select a maximum of all 3 countries if condition 1 is met with. As per the 
condition USA & UAE both have to be selected. So we can only select USA & UAE or 
select all 3. So option D. 

36. 14. 100. 64. B 
Either 2 or 1 countries can be selected if only conditions 2 & 3 are complied with 
Those could be one among USA or UK or If UK is selected then UAE is also selected. 
So option B 

37. 15. 101. 65. C 

Checking through the choices for the relationship between w and X as niece and 
uncle we find choice C to be correct checking C. 
 
 
 
 
 
 
 
 
 
 
Since, W is daughter of y and x is brother of y. So, w is niece of x. 

38. 16. 102. 66. C 

Making the diagram as per given instructions 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Now, From the diagram it is clear that the distance between starting point A and end 
point B is 5 miles using Pythagoras therm. 

39. 17. 103. 67. D 

 
 
 

 
 
 
So, no conclusion precisely follows. Hence, None of these 

B 

4 

9 
2 

5 

2 

1 
A 

I Phone Mobiles I pads Tablets 

X 
(male)

Y 
(male)

W 
(Daughter) 

Z 

Brothers
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40-
42. 

18-
20. 

104-
106. 

68-
70. 

 

As per the given condition we can draw a flow chart. 
 
 
 
 
 
 
 
 
 
 
 

40. 18. 104. 68. C Now we can say that only 2 cities U & V are crossed to reach T from S. 

41. 19. 105. 69. B 
Longest route from P to U is P -Q - R - T - V - U. So, 4 cities are crossed in the route 
except P & U. 

42. 20. 106. 70. C 
Checking the option with the diagram we can observe that connecting U to Q with 2 
way connection minimizes the transit cities. Hence option C. 

43-
47. 

21-
25. 

107-
111. 

71-
75. 

 

Sales in 
Month 

 
AC type 

A
pr

il 

M
ay

 

Ju
ne

 

Ju
ly

 

A
ug

 

S
ep

 

O
ct

 

N
ov

 

D
ec

 

Ja
n

 

F
eb

 

M
ar

ch
 

2 Ton 253 253 318 323 402 259 324 325 325 332 415 418
1.5 Ton 240 240 420 426 246 246 428 429 429 439 254 256
1 Ton 177 177 152 155 440 181 337 338 156 346 455 459
0.5 Ton 595 595 381 387 207 609 207 208 390 213 214 216

 

43. 21. 107. 71. B 

Required Average =  

338
12

256254439429429428246246426420240240



 

44. 22. 108. 72. A 
Absolute difference between average annual sales in highest for 1 ton Ac and ½ ton 
AC. 

45. 23. 109. 73. C 1.5 ton AC has performed the second best in half yearly sales performance.   
46. 24. 110. 74. D In February 2015, total WAC monthly sales performance was the highest.  
47. 25. 111. 75. D 2 ton AC has least Sales volatility. 

48. 26. 112. 76. C 

The total sales of product B = 5800 

The average sales of product B = 57.828
7

5800
  

The difference between average of A and B is 214.29 
 Average of A = 214.29 + 828.57 = 1042.86 
Hence the total of A = 1042.86  7 = 7300 
Let the value of A in 2013 = x crore 
The total of A from table = 6800 + x 
 6800 + x = 7300  x = 500 
 sales of A in 2013 = Rs. 500 crore 
 
The difference between the average of B and C = -342-86 crore 
 Average of C = 828.57+342.86 = 1171.43 crores 
Hence total of C = 1171.43  7 = Rs. 8200 crore 
Let the sales of C in 2010 = Rs. y crore 
The total of C from table = 7400 + y 

 7400 + y = 8200  y = 800 
  Sales of C in 2010 = Rs. 800 crore 
 
The difference between the average of B and D = - 71.43 crore 
 Average of D = 828.57 + 71.43 = 900 crore 
Hence total of D = 900  7 = Rs. 6300 crore 
Let the sales of D in 2012 = Rs. Z crore 
The total sales of D from table = 5700 + Z 

 5700 + Z = 6300  
 Z = Rs 600 crore.                                                                                                          

S U V T 

U Q R 
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49. 27. 113. 77. B 

The total sales of all products in 2010 = Rs. 4700 crore 
The total sales of all products in 2011 = Rs. 4200 crore. 
The total sales of all products in 2012 = Rs. 4500 crore. 
The total sales of all products in 2013 = Rs. 4400 crore. 
Since the sales in 2011 is minimum, so average in also minimum in 2011. 

50. 28. 114. 78. B 
The total sales of products A, B, D and E are Rs. 7300 crore, Rs. 5800 crore, Rs. 63 
crore & Rs. 7000 crore respectively. Since the sales of product B are minimum. 
Hence its average will also be minimum. 

51. 29. 115. 79. D 
The difference between the average sales of product D and product E is Rs. 100 
crore, which is least. 

52. 30. 116. 80. B The Year on year growth in 2010 -  

53. 31. 117. 81. D 

                     2014 2012 2010  

A. innovation 0.30  4.5 
+ 

0.35  4      
+ 

0.35  
4.75 

= 
4.4125 

B. Business Sophistication 0.3  5.25 
+ 

0.35  4.75 
+ 

0.35  4.5 
= 

4.8125 

C. Infrastructure 0.3  5.25 
+ 

0.35  4      
+ 

0.35  4 = 4.375 

D. Macroeconomics 
Environment 

5.5  0.3   
+ 

4.5  0.35   
+ 

4.75  
0.35 

= 
4.8875 

 

54. 32. 118. 82. C 

A. innovation                                  
105263.0

75.4

45.4



  

B. Business Sophistication 
11111.0

5.4

75.425.5



  

C. Infrastructure 
3125.0

4

425.5



  

D. Macroeconomics Environment
210526.0

75.4

5.45.5



  

 

55. 33. 119. 83. B 

A. infrastructure 
416.4

3

25.544







 

  

B. Institutions 
50.4

3

5.475.425.4







 

  

C. Technical Readiness
25.4

3

5.575.35.3







 

  

D. Market Efficiency 
333.4

3

25.45.425.4







 

  

 

56. 34. 120. 84. C 

A. Business Sophistication 
%75.18

4

5.425.5





B. Institutions 
%88.5

25.4

25.45.4



  

C. Technical Readiness 
%88.5

25.4

5.35.5



  

D. Infrastructure 
%14.57

5.3

5.35.5



  

 

57. 35. 121. 85. D 

Least cost/ad 
Website A = 27% of 5, 57, 000 / 240,000 = 64.8  5,57,000/1000 
Website B = 22% of 5,57,000 / 370,000 = 81.4  5,57,000/1000 
Website D = 13% of 5,57,000 / 300,000 = 39  557000/1000 
Website E = 20% of 5,57,000 / 150,000 = 30  557000/1000 

58. 36. 122. 86. D Max. Quality Traffice 
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Website A = 2800 / 120,000 = 0.0233 
Website B = 2500 / 60,000 = 0.0416 
Website D = 3000 / 80000 = 0.0375 
Website E = 3500 / 40,000 = 0.0875 

59. 37. 123. 87. C 

Max. Leakage 

Website B = 
2500

1200
1 = 1 – 0.48 = 0.52 

Website C = 
2000

900
1 = 1 – 0.45 = 0.55 

Website D = 
3000

1300
1 = 1 – 0.43 = 0.57 

Website E = 
3500

1600
1 = 1 – 0.457 = 0.542 

60. 38. 124. 88. A 

Most efficiency 
Website A = 2700 / 27% = 100 
Website B = 1200 / 22% = 54.54 
Website C = 900 / 18% = 50 
Website E = 1600 / 20% = 80 

61. 39. 1. 89. C 
Para 5,4th Line: Arcelor - the world’s most profitable steel company. Option B ruled 
out. Therefore Option D ruled out. Option A is not true, Refer to3rd Para,2nd Line 
(SINCE 2003, and not In 2003)Hence, the correct answer is Option C 

62. 40. 2. 90. D 
Para 6, 3rd Line (Dominating the market…Either firm to increase its pricing position 
with customers)  

63. 41. 3. 91. B 
Para 5, Line 5, (Its nearest rival, Arcelor..) Option A (The passage does not talk about 
Arcelor & its shareholders; Option C is false as the Steel industry had recovered from 
the crises by 2005; Option D this line is nowhere mentioned in the passage 

64. 42. 4. 92. C Option C is directly stated in 1st Para, Last Line & 2nd Para 1st Line  
65. 43. 5. 93. B 2nd Para, Last Line (In an era….to suggest that the advent of the internet ranks...) 

66. 44. 6. 94. C 
Option A ruled out..look at 3rd Para, 1st Line (While Outlet did not…)In the very same 
line, it is mentioned that his vision looks nothing short of Prophetic; hence Option C is 
the correct choice 

67. 45. 7. 95. B 
Option B is clearly mentioned in Para 6,3rd Line (Each shared a commitment to social 
transformation...) 

68. 46. 8. 96. D 
Para 4 talks about Outlet’s idea being Futuristic, Visionary and Utopian. Hence, 
Option D is the correct choice 

69. 47. 9. 97. C In most of the passage the author is talking about the mentioned issue. 
70. 48. 10. 98. A Refer para 5 , line 2 “mortal hazards arises …. He had insurance coverage.” 
71. 49. 11. 99. C Refer para 4 , line 2 “ in the recent years… socializing private risk.” 
72. 50. 12. 100. C Refer para 4 , 4th line from the bottom “ in effect … mistakes.” 
73. 51. 13. 101. A From the overall reading of the passage only option 1 can be implied.  
74. 52. 14. 102. C Refer the first paragraph “first, the impact….has declined.. 
75. 53. 15. 103. D From the overall reading of the passage , the answer can be easily deduced. 
76. 54. 16. 104. C Refer para 5, line 6 – “the pluralist view … terms.” 

77. 55. 17. 105. C 

The opening line of the passage has already been given. this will be followed by 
statement p “one argument …. Universe.” Statement S forms a mandatory pair with 
statement P “another argument …. God.” This is to be followed by Q- “he …. 
Technique Thus the sequence is RPSQ. 

78. 56. 18. 106. A 

S1 has been mentioned as the opening sentence. Statement S follows the opening 
sentence most logically, One day……. Bazaar. It is to be followed by statement P “on 
the way……… watered. Since P and R form a pair, the next statement R “but……. 
Still will follow. Thus the sequence should be SPRQ 

79. 57. 19. 107. D It means to emphasize 
80. 58. 20. 108. A It means to have an end to serve 

81. 59. 21. 109. D 
To get carried away is defined as to become overly excited or involved and to take 
things too far,  Carry on means to continue despite difficulties; Carry out means to 
bring to a successful issue or complete 

82. 60. 22. 110. A 

 Hang Over means a severe headache or other after-effects caused by drinking an 
excess of alcohol. Hang up one’s boots means to give up a sport permanently; 
Hang around means to roam around freely; Hanging on to each word  means 
everything you say is being thought over and absorbed by the person reading or 
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listening 

83. 61. 23. 111. C 
In the second blank, the use of “from” suggests that the terrain is different from that of 
Europe. 

84. 62. 24. 112. C 
the 1st part of the sentence refers to  the processes that go beyond our reason, hence 
the most appropriate choice is “defied” 

85. 63. 25. 113. C Milieu means a person's social environment 

86. 64. 26. 114. A 
Gaffe means an unintentional act or remark causing embarrassment to its originator; 
a blunder 

87. 65. 27. 115. D 

Emancipated means to free from restraint, control, or the power of 
another; especially :  to free from bondage; Enunciated means  to make a definite or 
systematic statement Elevated means raised especially above the ground or other 
surface; Emaciated means abnormally thin or weak, especially because of illness or 
a lack of food. 

88. 66. 28. 116. C We always use” from” with remove 

89. 67. 29. 117. B 
Qualm means a feeling of uneasiness about a point especially of conscience or 
propriety 

90. 68. 30. 118. C 
Because of the Preposition “TO” we can only use the word Alternative  in the 1st 
blank. And in the second Blank we are talking about the risk of lung & mouth cancers, 
Hence,  Option C is the correct answer 

91. 69. 31. 119. B Conspiracy has to be planned secretly,” Clandestine” means secretly 
92. 70. 32. 120. B You can’t be natural if you are acting. 
93. 71. 33. 121. D All of these are applicable 

94. 72. 34. 122. B 
Since, the word ‘Although’ has been used; the next segment should about something 
similar but of a lesser degree. Hence, Option B is the correct choice 

95. 73. 35. 123. A 

Cacophony means a harsh discordant mixture of sounds & Euphony means the 
quality of being pleasing to the ear. Both are sound patterns used in verse to achieve 
opposite effects: euphony is pleasing and harmonious. Similarly, Nocturnal and 
Diurnal are opposites. Further, both pairs cannot be associated with human qualities 

96. 74. 36. 124. B 
Blasphemy is the act of insulting or showing contempt or lack of reverence, hence 
the correct answer is Option B (Reverent which means respectful) 

97. 75. 37. 1. A  
98. 76. 38. 2. D  
99. 77. 39. 3. A  
100. 78. 40. 4. B  
101. 79. 41. 5. C  
102. 80. 42. 6. A  
103. 81. 43. 7. A  
104. 82. 44. 8. C  
105. 83. 45. 9. B  
106. 84. 46. 10. A  
107. 85. 47. 11. B  
108. 86. 48. 12. A  
109. 87. 49. 13. B  
110. 88. 50. 14. A  
111. 89. 51. 15. B  
112. 90. 52. 16. C  
113. 91. 53. 17. A  
114. 92. 54. 18. C  
115. 93. 55. 19. A  
116. 94. 56. 20. A  
117. 95. 57. 21. A  
118. 96. 58. 22. C  
119. 97. 59. 23. D  
120. 98. 60. 24. D  
121. 99. 61. 25. D  
122. 100. 62. 26. A  
123. 101. 63. 27. A  
124. 102. 64. 28. C  

 


